>>> freebeer(15)
'l 2 free 4 beer free 7 8 free
beer 11 free 13 14 freebeer'



FreeBeer ~=
FizzBuzz



print smectro return



print smectro return
= 0 TOuUKM



—

R

Mars Climate Orbiter




NMayHA BMECTO KMAOIrpam
= $327,000,000



NPpOCTOTa U YETAUBOCT



“Don’t overthink FizzBuzz!”

-- Reginald “Raganwald” Braithwaite
http://bit.ly/fizzbuzz



http://bit.ly/fizzbuzz
http://bit.ly/fizzbuzz

freebeer_ wtf.py:

def freebeer(n):
return .Jjoin([ [1*1%3*4 :
1¥*4%5]or str(1) for 1 in range(l,n+1)])



freebeer _multiply.py:

def freebeer(end):

return .Jjoin((map(lambda x : str(x) *
(not not (X % 3 and x % 5)) + * (not X
% 3) + ¥ (not x % 5), range(l, end +

))))



3apasenTe! A3 cbMm
[leTbp ¥ cbM Ha 25
roAvHu!



3apaBente! MoeTto nme e
BTOPOTO MO MNOMYAAPHOCT
MBXKO UMe B bbArapus u
Bb3pacTTa MU € Haun-
MaAKUA ABYLMPPEH
KBaAPaT Ha MPOCTO
YUCAO!




freebeer_list.py:

def freebeer(n):
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freebeer_list.py:

def freebeer(n):
items = []
for i in range(l, n + 1):
1f 1% ==
1tems. append(
elif 1 % 3 ==
items. append( )
elif 1 % 5 ==
items. append( ),
else:
1tems.append(str(i))

return .join(1items)



result_string






"free'



# bug 1n python!



1f a ==



1f __name__ == ‘__main__":
print(freebeer(15))



10 GOTO VIM



